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Time : 3 Hours Max. Marks : 40

~/ SECTION Ao\
- 5 N m% N
Answer all questions. Each questao&cameg 1/z marks. ( 4xY2=2)
%W e .- e g?.:
1. What is internal reconstructlorf v .-
2. What is consolidation of shares 2 ~ V.
0 &
3. Whati is amalgamation ? ';»g; : “‘g

4. What are preliminary ekgensesf% g‘“}ﬁé%}
@9 - i
SECTION fB :
JI. \‘.. ,ﬂC’ / M«ﬂ-., / .\\
Answer any 4 quesnons Each questlon carries 1 mark { N T (4x1=4)

..... _/’ s _,“;' / ‘\\.‘&\

6. What is external reconstruction '?

7. What is alteration of share capital ?
8. What is statement of equity ?
9. What are contingent liabilities ?

10. What is capital reduction ?

P.T.O.
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SECTION-C
Answer any 6 questions. Each question carries 3 marks. (6x3=18)

11. Following is the balance sheet of Jaison Lid as at 31-3-2021 :

Liabilities ’ " Rs. Assets Rs.

100000 Equity Sundry assets 4,30,000

shares of Rs. 10 5 cEoRILAT '5’70,000 ,

each, fully paid o/ ‘ 224

Total I & 10 00 0006 Total 10,00,000
S, /s 28

The management of the (%%mpany feels that the (ﬁorst days are over and adopt a

scheme of reconstruetion reducmg,all its eqwty shares into an equal number of
fully paid equity shares of Rs. A%%each Pa%ws joumal entries and prepare balance

gwf . .
sheet immediately after recor%étructron %&

@ '{g}fﬁ&’
12. Explain how purchase consu ratlon calcula 1

34 A\
\ /\

13. A Lid. agrees to take\oxa‘er B Ltd on the folfow:ng tenns

undér net payment method.

.-'
_/

B

T—

1) The shareholders of B Ltd are 1o be patd Rs? 25 |ln cash and issued 4 shares
of Rs. 10 each in A Ltd. for-every'st share»of B Ltd. B Ltd. has 50000 equity

shares.

2) 5000 Debentures of Rs. 100 each of B Ltd. are to be redeemed at premium
of 10%.

3) Expenses of liquidation of Rs. 25,000 are to be borne by A Ltd. Calculate
purchase consideration.
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14. What is the difference between internal reconstruction and external reconstruction ?
15. What is intrinsic value of shares ?

16. The paid up capital of Toy Ltd. amounted to Rs. 2,50,000 consisting of 25,000

equity shares of Fls’. 10 each.

Due to loss incurred by the company oontmuously, the directors of the company

prepared a scheme tor reconstructron WhICh was duly approved by the court.

e \

#

The terms of reconstruchon were as follows \‘v

% mj? g,
) In view of their present holdmg%tl’t‘e shareholder are to receive
Lo WW

a) Fully paid equity st%res eg_gual to 2/5 ot their holdlng

b) 5% preference shares fully pa|d upmto the extent of 20% of the above

new equity shares. : L
> o

c) 3,000,6% second.4 benturea of Bs.10each._

%:% <@ﬁ,¢,§ .s_)w}iﬁé’%

II) An issueof 2,500, 5%, frrst tdebentures of}s. 10 each was made and fully
“ . \ . ¥ /
subsciibed in cash U W
¥ : . * " - /);M::j:\,:/x\ I.:‘-:::.J
Ill) The assets were reduced as follows_ L A ot

a) Goodwill from Rs. 1,50, 000 to Fls '75 000
b) Machinery from Rs. 50,000 to Rs. 37,500

c) Leasehold premises from Rs. 75,000 to Rs. 62,500

Show the journal entries to give effect to the above scheme of reconstruction.
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17. What is alteration of share capital ? Explain what the ways company can
adopt to alter share capital.
18. The following is the balance sheet of A Ltd. as on 31-03-2007.
Liabilities Rs. Assets Rs.
Share capital 8% pfeference Fixed assets 16,25,000
shares of Rs. 100 each 3,75,000 Investments 3,00,000
Equity shares of Rs. 10 eac:h ,7 50 000 Current assets 2,50,000
General reserve ) '4 50,000/ ‘ N3
7% debentures ;é_f;%a',so;oqoﬁfgﬁ e
‘ " g A %; e ,w W
Current liabilities % %i; 50/000"" e
%1 75 000 21,75,000

;9:
R Ltd. agreed to take overthe busmess otA Ltd. Calculate purchase consideration

under Net Asset method by Vaiumg ?assets%and liabilities at book value.
‘%‘? FEAT
& Q 2 *{g@'

s ECTION ~p

7 \ e xf //.-"w_}_[%
Answer any 2 questlons Each questlon carrres 8 marks ./ i (2x8=16)
7 i ‘%\v / w__\."“'“'?‘:
/ .......

19.What is poolmg of mterest method and explai ltsf s and significance ?

~§
.,fi%-/f

20. The following is the trial balance of A. Ltd. on 31-03-2020 :

Debit Balance Rs. Credit Balance Rs.
Bujlding 2,90,000 Sales 5,20,000
Machinery 1,00,000 Salaries outstanding 2,000
Closing stock 90,000 Provision for bad

" Purchase( adjusted) 2,10,000 debt(1-4-19) 3,000

Salaries 60,000 Share capital | 2,00,000
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Directors fees
Rent

Depreciation

Bad debts

Interest accrued oﬁ

investment

12000 shares of Alto

8 paid up
Debenture interest
Loose tools
Advance tax
Sundry expenses
Debtors

Bank

10,000
26,000
20,000

6,000

2000
A;20,000.

A ,‘3‘

- 28 000 Inier,est on.debentures

i
32‘,

6%% 000 Interest on investment

b 3 18 000 Unclalmed dividend

%*“f N7

._\L

12,18,000

Additional mformatlon

—~Closing stock'i is more than open:ng stock by Rs 80 000 ==

General reserve
Profit and loss
Creditors
Provision for
depreciation :
On building

On machmery

ﬁ 4% debentu res

.t’ﬁ

& ,' 23 000 *’Accrues ot due

.»m

*%

— Provide for bad and doubtful debts? @4% on debtors

— Make a provision for income tax at 50%
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40,000

25,000
92,000

50,000
55,000
2,00,000
14,000
12,000

5,000

12,18,000

— Depreciation expense include depreciation of Rs. 8,000 on building and that of

,F{s. 12,000 on machineries

— Directors recommend a dividend 25%.

Prepare statement of profit and loss for the year ended 31-03-2020, and the
.balance sheet as on the date in prescribed form.
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21. Following is the balance sheet of Lotus Ltd. as on 315! March 2022.

Liabilities : Rs.

Share capital | 2,50,000
Reserve T 1,00,000
Bank loan ' ' 2,00,000
Creditors 1,50,000

7,00,000
Assets : ;X
3‘00 000

Land and building . Qﬁ 3,0
Furniture ‘*’i_‘f‘?_ -2, 0%000
Stock g 00,000
Debtors

Profit and Loss A/c

" A .
Lotus Ltd. was absorbed by Ma f Lid. on puffc it %se consideration of Rs. 6,00,000
payable Rs. 4,00 OOQ,m cash.and 20,000 %res of-Rs.10 each. Liquidation
expenses were Rs/\ 10, 000 lee Jq_urnal,_ en{rles/andfledger accounts in the

books of Lotus Ltd/ ,f« 7 /K /s’ “/

; i T
5 ; i\s/ P




